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University of Jordan
Faculty of Engineering and Technology Student name: - | o ———
Industrial Engineering department
Mid-term exam student no:
Project management (0906522)
March, 25™, 2010. Serial no: QO
Questmn 13
: S 1. Drawan AOA /Pert network for the activities in 'fEe following table: (5 points)
c Activity | Depends Duration (days) Y
on optimistic | Most | pessimistic A ;
- likely g ecy |V (5 & |9 $
ol A - 6 7 8 =% 2arenh2| o | 7
B - 1 3 4 3 lq . L =+
C : 6 8 10 2 Y% o |2 [1n] s
D AB 7 10 13 Ta) i | 2l ) 7 r:;—J
“|_E B.C 2 2 2 e | R |10 23|25
F D 5 8 11 R4 |1 |25 12|25
G B.,C 1 1 1 | 1®e | 8 | & | 24|25
H E.G 1 2 3 P Yq G | O )
I D 8 8 8 R | 6L THE |17 | 25,
J AB 2 7 12 |z | B # o |33
K B,C 1 5 9 “ Ve | B 13 |26 |29 .
. |EEGKI 13 17 21 2 (Y2592 | s jurd s o | o) @
M EFG 1 3 5 2 ",Vq 25 2% zq U | U Y e} 1lLf
N FJ 4 4 4 L] o]25]29(28 | v 33| o |0
7 13 2. Apply the forward pass method and the backward pass method on the AOA network. .(3
’ points)
v )<t 3. Calculate the EST, EFT, LST, and LFT for each activity. (4 points)
144 Calculate the total float, free float, interfering float, and independent float for each
activity.( 4 points) . ,
\ / -, 5. Name the critical activities in this network. (2points) sheel ’i/a—:£ F- ere L
1| = 6. What is the variance of the critical path. (2 points) \Q’ "
~ 7. What is the expected completion time of the project. (2pomtsiﬂj =
~_ 8. What s the probability to complete this project in 45 days or less. (2 points)
y 9 What is the probability to complete the project in 35 days or less. ( 1 point)
_10. What is the expected completion time of this project corresponding to 85 % completion.
" (2points)
o 11. Draw the AON network for this project. (3 points).
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University of Jordan Project management { 0906522)
Faculty of engineering and technology Midterm exam (Nov, 22, 2009)
Industrial engineering department Student name: ------ sSSmaEE

Eng. Lamees Al-durgham Time: 50 Minutes Student number:
Question 1: (25 points)

Given the following information for XYZ project.

activity | Predecessors Time (days) Expected | variance
optimistic | Most | pessimistic | time et
likely @ md’
A - 2 2 2 2 o)
B - 3 3 3 2 ()
B - p 5 8 5 |
D A B 3 6 9 g I
E A 3 3 3 2 -
F A,B,C 3 3 4 3 -
G B 5 3 5 = >
H E D 1 2 3 - /3
1 D,F 1 1 i |- - o
4 G, H,1 2 5 8 5 . |
K G, H 6 9 12 q I
ks A 1 1 1 ( o
M A B 1 2 3 2 /3
N A,B,C 2 5 8 = [
0] N 4 10 16 e} 2
P O 2 2 2 e (@
Q L M,P 1 4 7 < !

T/ 1. Draw an AOA network.
2

Apply the forward pass method and the backward pass method.

2 3 3. Find the earliest start time (EST), Earliest finish time (EFT), latest start time (LST),

and latest finish time { LFT) for each activity.

O\ Y [ 34. For each activity find the total float, free float, interfering float, and independent

float.

_~"5. What are the critical activities of this project? €/ M, 0,2, @

_~"6. What is the expected completion time of the project? 28

— 3 X 7. The variance of the eritical path is equal to ___ & (show your calculations)

\ [ o= 8. The probability the project will be done in 29 days or less is equal to g2 g 7. ¥

N

(show your calculations).

~_~ 0. The completion time corresponding to 80%.

T "

Question 2: (5 points)
True or false (correct the false).

r i /1 Any activity on arrow network can be converted to activity on node network. T

X 2. The AON network can be drawn from the Gantt chart. T~

=3 The finish to start relationship can't be represented using AOA. - (Cm'\ be\

¢~4. PERT method can't be applied using activity on node representation. /= (@. n L,Q}
(/(S, Project completion time equals to the summation of all ¢riti ivities durations_. =

of) Cridical pafly




Quiz # 2 J :

. / / / . / / /2 2
Student name: / VAR Student no: VT G /
Draw the project network for the following set of activities using AOA method.
Apply the forward and the backward pass methods to complete the following table.
Find the critical path / paths.

i | l W
2 | =
> | 3 8
= 3 = . .
= 3 g > = — £ = = a
= 5] 5 < = -
5. |2 28|48 |& |3(¢5 |E |E |8 |4
A - 9 o “q o G & e = =)
B A 8 Gl =1 ! " o 2 b Q
2 - ! o || s | 02016 | e | © | 4
D | B,C| 2 M | oW 20| 22" B 3| o
F | BD 4 jizi £.3 2.7 1 il % o | zese
G | - |1 |o iz |2 l20 } 213 | « S
| H | EG | 11 | 26 |3) 26 | 3 o o o | o
[ E 2 20 22 | 29 | .24 L | 214
gy D L B | 2ol 25 2¢ | P 3/ il o
D Fde =y BT & | o
s s T |

[V

e > A - B — E-E-H

£
%
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Student name:----- ——— s Student MO mmmmemmmmmmmmmmn  mmmmme

Given the following network for ( XYZ ) project.
ACE -

BE&A=2"—~

orosh A
L =-4o

\S weak ' | v
> -> \ U3 wreels o oNagn ST umepk / oY
oasin g 2-\S = Auwak |

s ! A e G /_:\fcd; casY o SHags . §S +|Q,L-1_\
B0 0 S v | Cvasn A S5+(SCIEYF 135 F | [ agn ek =%

cvmsin 2 Gt , B
o5 +€CQ Qe o3 N P¥ Ty
activity Time (weeks) (e Cost (1000 $)c.. | Cost slope

' normal crash Normal crash

A 2 9 6 10 (16) £ -2
B L1 %8 5 9 18 = -3

C \ 5 4 7 8 = |
D o 8 6 9 a» -

E M7 3 7 15 5 -2

. B o] 5 5 5 5 2 o

G T, S 2 8 [6%)) % 5

Partial crashing is allowed for all activitles s5° SE®
A. Calculate: g %5

1 the normal time and the normal cost of the project

2 The minimum cost to complete the project in 15 weeks, 17weeks, and 20
ria ¥ N 273 3
weeks. oLy

B. If the indirect cost is equal to ~ $(10 +3 * Te) * 1000, where Te is the
N2 ; expected time to complete the project, calculate the total cost to complete the
é’ project in 15 weeks, 17 weeks, and 20 weeks.
‘olal (Qg‘.,i enchee _\_clis}"’c}' CeSe b
C. Draw the ‘éroject c\ost as a function of the project completion time.
\ N

>
Awrec casr = 81 j \ » Ry

1\,;.4-_\." .*'1\'." |
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Quiz: Student number:
Student name: Serial number:

Schedule the following project using Burgess technigue.

Activity Duration (days) | Resource x Predecessors
(units/day) 7
A 7 2 -
B 12 1 -
C 5 3 .
D 4 7 A
E 6 1 B
F 6 2 A
G 8 3 A C
H 5 2 B,F
1 1 1 G
J 4 = F
K 5 &' o ) D
o == A il
¢ ® | e e~ AT v 5 \§

: “‘”\5‘5 CYE

< € e g —-——Q’l- )D_____, —2 '
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Quiz#1 o

Student name: --- - - Student number:---- e e e
Serial number:

Question 1:

Describe the life cycle of a project in terms of (1) the degree of project completion

(2) the required effort. -

Jew A
|

&

|
- { N
O ch\QQP\_
® P\““‘“\“ﬂ};@&w v B Temualig 4 ovaliating
iy
Quesﬁonf [ W ﬁ

A. The PMI definition of a project is ____t;szg{&iﬂ___QV\ol‘eaUGf uaeke Faken

l’Dc{u:Jt'- _____ LAV Q]LMP-Q&‘*LJ— ol ___Swluce

B. What are the three project objectives?

- Taw
2.« W —

C. Explain the seven main characteristics of a project.

L I?isf fowce . -t\,aqpf;;:ja_c,l" wwdrGe "WM W oeges of senw LT

2. Parbalrasmoes . prjecr divicked te sub lasks o adhieve. the prjer
3@1‘5 so F Viaguaie awelud cocstchivation aral chvad STRAS
‘-"e’ "-\\-\.Q v

-

3. Life Cydde anvd Auwide e dabe the preyed begnwivg slsw

o builel up e Peok toegv dechvsd anal Ci»wu.j IRk wdn
due  Jakha

' 5 - SN o] e ks Whach
by, lv\d—e.f)- endbwace . e pR jest befaal with ol PIG)
el AW povvad m:icwﬁmﬁm s oralemaau SW =
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Question 3:
Discuss the project manager’s responsibilities toward (1) the parent organization (2) the
project team members (3) the project and the client.

® ks ‘;\,chf}.m,J‘ le kwap te senwoy momgfj O R Pw&l
wewk ol achaue e EYe Jq_sJ" ac-m,{)
S By sy s whegnly o - jeck Weg| -
whegr e prjeel s glesemed] W spilbecd
Question 4 -y mﬁf@% e ‘WQWM

What are the major differences between functional manager and project manager?
g o)l WS PM
— sPecialisk - generalisf-
- qv&»%s b 2 sy iihesider
T SWPHVisay - faah)k

Question S:
A. Write three types of project organizations.

v . P‘(& oefj— Q(%omkm% S\

3. Mahh X O(‘aw?.%"ﬁt{f\

B. Write one advantage and one disadvantage of each one.

~ Lonch G\UZJ P &) el

\ wax. Flenk b praject }‘_’\:"'*mra@f s FM lione,
as\. SR /| ouenTY ove( P project

<

Hus adv. | Ne W‘@l\d';ch;af TS e Wd(rﬂ alauwF e \ife
) aliber” A\g (D\/O\')wcj— ik

J gi\M—V\ I:\.LM
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